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B.Com. (Part-lll) Examination, 2018
(Faculty of commerce)
(Three Year Scherse of 10+2+3)
ECONOMIC ADMINISTRATION AND

FINANCIAL MANAGEMENT
Paper-li
(Business Budgeting)

Time Allowed: Three Hours
Max.Marks:100

Note: (). Atempt any five questions in all, selecting one question from each Unit.

TAF FHE F ¥ UF N F TAA A qO, T GG TA g A ¢

(i) No supplementary answer-book will be given to any candidate. Hence the Candidate
Should write the answers precisely in the main answer-book only.
&l o afemft & g1 sav-gfas A & S ae: afefit & afd F 3 e
IR J & wAEd vl & 3 fad

(iiiy All the parts of one question should be answered at one place in the answer-book. One
Complete question should not be answered at different places in the answer-book
Rl o o T &F Heeid O T R WAl 3 39 IA-fiae d HEe-Hee TuE W
g A & q, TF § TH W FA HY
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Unit.'t’
vl
1, Define budget. Discuss its benefits and limitations.
T & SRERT AR 8 o qur fAET & Qe fifaw

Or/ e

Production costs of Mrinal Limited for one year are as follows —
Particulars g b
Direct Labour cost Direct 1,75,000
Material Cost: 2,50,000
Production overhacds
Fixed overheads 55,000
Vanable overheads 75.000 1.30,000
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The production manager expects the following changes for the coming year
{a) The rate of direct material will increase from R 10 per unit to R 12 per unit.

{b) The average rate of direct labor will increase from R 7 per hour to ¥ 10 per hour.
(c) Production efficiency will fall by 5 percent.

(d) Direct labor hours will increase by 10 percent.

(e)Other expenses will change.

Prepare a production cost budget.

vw T F v gone fPfRE & seaew e sw oy -

Particulars 2 X
Direct Labour cost Direct 1,75,000
Material Cost: 2,50,000

Production overhacds
Fixed overheads

Vanable overhead 55,000
75,000 1,30,000

INEA JEUF FT S I 9% ¥ v et oREdet & s B

(a) Seue W Y T FR 10 97 giae & 9ot AR 12 wia giae & sy
(b) SeTeT #H & MWT 2T R 79 € ¥ TEHT rate 109y G g ST

© 3eA &TAAT # 5 wfana #r frgae @

(d) FeTer 4| g2t & 10 wfdwra fr gefr @t

(e) 3T T agwAN

3EREA AN T AR L

Unit-II"

FHE-1II'
What do you understand by business forecasting? Discuss the principles of business forecasting.
aAwf i e ¥ 3w FEEd § 7 s @i § fRgued w1 e ff

Or/ ¥yar
What do business forecasts mean? Describe various methods of forecasting.

SEATAF @A § R AW @? qEgAe & Rt Rt s ave fifsre

Unkit-“lI¥

sHrE-ll

What is a cash budget? Describe the various methods of making a cash budget.
VFT 75T T ¢ ? AFF o7 T #r fafdes faftat &1 ao= Ao
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Or/ 3yar
A factory which works 50 hours a week has 100 employees engaged on a work. The standard rate of loss 15 1
rupee and the standard production is 200 units per hour. In the month of June, 10 employees were paid 80
paise per hour in a week and 5 employees were paid at the rate of 1 1.20 husbands. But the employees were
paid proof rates. Calculate the actual production units of 10,200 y.

vF FRAET S fF wedrg F 50 6o FR aar §, # U 39w W 100 FAd 79 g &
WATYET Y ATeT 1 FYAT § aUT FAIY e Wi WHE gver 200 $F7F gl S A & UF @K
& 10 @il #r 80 ¥wr wfy aver qur 5 ARt & 1 1.20 ofy @ver & g A s fawar
AT W FHATG F FAOT G JFAT TN IEAE Fenfed gawmgar 10,200 F T ot
$r aomr Ao

Unit-IV*

-V
What do product and production decisions mean? What kind of decisions are taken under product and
production decisions

3G U9 3AGA YT & F41 INM § 7 39K W IARA v & weeta e ger & ol
fRAvsa €

Or/ 3yar
Aditya Limited produces three products X, Y and X. The material, which is used as one of many products, is a

controlled item. Annual allocation of 4,00,000 kg material to the company Has been done. The following
infarmation is available:

Product X Y Z
Raw Materials a 10 per 24 20 30
kg. (kgs)
Labour Hours aR 2 per 30 40 25
hours {(hours)
Selling Price per unit (?) 372 330 430
Maximum possible
output {units) 5,000 8,000 6,000

A maximum of 6,00,000 labor hours are available. Assuming the variable overhead and labor hours, state that
Which product mix can the company earn maximum profit from?

e fafee cEm e 3arEl X, Y auT X3 3ces R S ) v, S e saet e
vw g wgEa i S g, afera arg ) Feeeh @ 4,00,000 RREvmr s F e saea
o &1 PRl gaae swaey &

Product X Y 7
Raw Materials a 10 per 24 20 30
kg. (kgs)
Labour Hours aR 2 per 30 40 25
hours (hours)
Selling Price per unit () 372 390 430
Maximum possible
output {units) 5,000 8,000 6,000
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HRFTH 6,00,000 4% TOT IuNew §| IREATNN 39ReET T 9y 47 aver W g aaeny
A Fral Y By seg Paor ¥ afear aw e A wFar £ 2

Unit-v'
THTé-v
What does project planning mean? Discuss the main methods of valuation of capital investment proposals.
wRrarsmT fdser ¥ @ s ¥ 7 OO Rftaer swaeEt & gearea & gen Rfudt & fdaw
o
Or/ 3yar

Find the weighted average cost of capital from the following information-

Source Amount in rupaye
2000 6% debenture of Rs. 100 cach 2.00,000
1000 7% debenture of Rs 100 cach 1,00,000
2000 8% cumulative preference 2,00,000
shares of Rs. 100 each

4000 Equity share of Rs 100 cach 4,00,000
Retained Earrings Total 10,00,000

For the past several years, the earning per share of Kamani is Rs. 15. The company’s Ash in the market
is sold at book value, the company's income tax rate is 50%. The tax liability on the personal income of
the non-holders is 10%. Find the average capital cost.

fareft dho-ft it gt wrRme Prerga 8-
(rupaye.)

2000 6% debenture of Rs. 100 cach 2,00,000
1000 7% debenture of Rs 100 cach 1,00,000
2000 8% cumulative preference 2,00,000
shares of Rs. 100 each

4000 Equity share of Rs 100 cach 4,00,000
Retained Earrings Total 10,00,000

e o aul /, 7t Ht ol dR sma T1 15, TR | ot &1 Y ga Ay R &= S @, H9i Y smaR
W 50% &1 R-uRat & @fRFra om R R Zgar 10% &1 fwa geht arma 3w HifSig
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